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Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain Zeroth law of Thermodynamics and how it is applied to closed systems?

b) What are different forms of non-conventional energy? Describe any two with uses.

c) Explain the following terms :

i) Detonation

ii) Knock resistance

iii) Solidification point

iv) Flash & flame point

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) What are different types of bearings? Describe special type of bearings and their one application.

b) What are different types of gear and explain pitch & module? Write gearing equation.

c) What are the different types of springs? Explain any two with use.

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain different lubrication systems?

b) Explain with diagram principle of working of wet and dry sump system of lubrication?

c) How selection of lubricants is done for a particular lubricating system?

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) What are different construction materials? Explain the different properties and uses of any two of construction
material.

b) What is different types of foundations? What is role of soil in deciding the type of foundation?

c) What are the different grades of concrete and its ingredients?

Q5) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the difference between plain and reinforced concrete. How under water concreting is done?

b) What is brick masonry? Compare with stone masonry is short.

c) Explain Joint and its classification? Disuss lengthening Joint.
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NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

ZmoQ> : ZmoQ> : ZmoQ> : ZmoQ> : ZmoQ> : g^r àíZm| Ho$ CÎma Xr{OE &

à.à.à.à.à.1) {ZåZ{b{IV _| go {H$Ýhr Xmo àým| H$m à`mg H$s{OE … [2 × 5 = 10]

H$) W_m}S>m`Zm{_Šg Ho$ µOramoW {Z`_ H$s ì`m»`m H$a| Am¡a Bgo ~§X àUm{b`m| na H¡$go bmJy {H$`m OmVm h¡?

I) J¡a-nma§n[aH$ D$Om© Ho$ {d{^Þ ê$n Š`m h¢? Cn`moJ g{hV {H$Ýht Xmo H$m dU©Z H$s{OE &

J) {ZåZ{b{IV eãXm| H$s ì`m»`m H$a| …

i) {dñ\$moQ>

ii) à{VamoY XñVH$ (knock resistance)

iii) R>mogH$aU q~Xþ (Solidification point)

iv) âb¡e Am¡a Ádmbm q~Xþ (Flash & Flame point)

à.à.à.à.à.2) {ZåZ{b{IV _| go {H$Ýhr Xmo àým| H$m à`mg H$s{OE … [2 × 5 = 10]

H$) {d{^Þ àH$ma Ho$ {~`[a¨Jg Š`m h¢? {deof àH$ma Ho$ {~`[a¨Jg H$m dU©Z H$a|? Am¡a CZHo$ Cn`moJ?

I) {d{^Þ àH$ma Ho$ {J`a Š`m h¢ Am¡a {nM Am¡a _m°S>çyb H$s ì`m»`m H$a| Jr`[a¨J g_rH$aU {b{I`o &

J) {d{^Þ àH$ma Ho$ pñà¨½g Š`m h¢? {H$Ýht Xmo H$mo Cn`moJ g{hV g_PmBE &

à.à.à.à.à.3) {ZåZ{b{IV _| go {H$Ýhr Xmo àým| H$m à`mg H$s{OE … [2 × 5 = 10]

H$) {d{^Þ ñZohZ àUm{b`m| H$s ì`m»`m H$a|?

I) ñZohZ Ho$ Jrbo Am¡a gyIo qgn (sump) {gñQ>_ Ho$ H$m_ H$aZo Ho$ {gÕm§V {MÌ Ho$ gmW g_PmBE§?

J) {H$gr {deof ñZohZ àUmbr Ho$ {bE ñZohH$ (lubricants) H$m M`Z H¡$go {H$`m OmVm h¡&

à.à.à.à.à.4) {ZåZ{b{IV _| go {H$Ýhr Xmo àým| H$m à`mg H$s{OE … [2 × 5 = 10]

H$) {d{^Þ {Z_m©U gm_J«r Š`m h¢? {H$Ýht Xmo {Z_m©U gm_J«r Ho$ {d{^Þ JwUm| Am¡a Cn`moJm| H$s ì`m»`m H$s{OE?

I) {d{^Þ àH$ma H$s Zrd§ Š`m h¡? Zrd§ Ho$ àH$ma H$mo V` H$aZo _| {_Å>r H$s Š`m ^y{_H$m h¡?

J) H§$H«$sQ> Am¡a CgHo$ Ad`dm| Ho$ {d{^Þ J«oS> Š`m h¢?

à.à.à.à.à.5) {ZåZ{b{IV _| go {H$Ýhr Xmo àým| H$m à`mg H$s{OE … [2 × 5 = 10]

H$) gmXo Am¡a à~{bV H§$H«$sQ> Ho$ ~rM A§Va ñnï> H$a|? A§S>a dmQ>a H§$H«$sqQ>J H¡$go H$s OmVr h¡?

I) BªQ> {MZmB© (masonary) Š`m h¢? g§jon _| nËWa {MZmB© (masonary) go VwbZm H$a|?

J) Om°BÝQ> Am¡a CgHo$ dJuH$aU H$s ì`m»`m H$a|? b¢WqZJ Om°BÝQ> na MMm© H$a|&
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